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1. Using three rectangles and midpoints, the area under the
graph of f(z) = 3z — 2% from z = 0 to z = 3 is approxi-
mately equal to _ 32 - |
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The volume of the solid obtained by rotating the region
bounded by the curves y = 2/z, y = 0, * = 2 about the 5>
T-axis is L, '
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7. If F(z) = / e’ dt then F'(z) & ™
Kﬂ x
(a) 2re” — %
(b) 6334—6:[2
(c) e
(d) 2€” — ¢
(e) St — pa™
- Aan & S
6 tan? do = j e o :J toan'® !
' /8609(8609—0089) Sec & -1
L i
() In|sin 6] +C e
a) In|sin 0| + ‘
(b) In|sec 6 — cos 8| + C -
| smel ~+ C

(c) sin #+tan 0+ C
(d) —tan 6 +In |sin 0]+ C

(e) cot @+ cosf+C

Co 5\&
Sln&




Math 102, Exam I, Term 162

Page 5 of 10

V3
9.  Anequation for the tangent line to the curve y = / V1+t? dt
T
at the point with z-coordinate v/3 is given by

10.
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13.  The volume of the solid obtained by rotating the region b
bounded by the curves y = z and y = z? about the line .| .. - (
t\ShW ;
x = —1 is given by = ;
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15. If /_5 f(@)dz = -17, [ f(z)dz =32, and
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16. The velocity (inm/s) of a particle moving along a line is
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17. If f is a continuous function and

2< f(z) <5 for 3<x <, s X Yo for 3 xS0
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then which one of the following statements is in general
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19. If f(z) = z! |cos (% In x) [4 + 5 tan (Z— In x)} :
then /16 f(z)dx = z
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20. The base of a solid is the triangular region with vertices
(0,0), (1,0), and (0,1). If the cross sections of the solid per-
pendicular to the z-axis are semi-circles, then the volume
of the solid is
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